Case 10: Ford Motor Company on the Edge?
VIDEO:  Changes at Ford Motor Company
Quiz

1.
Ford Motor Company is still doing fine in the auto manufacturing industry. 
Answer:
F



2.
Ford has a restructuring plan that includes closing plants across the nation.
Answer:
T



3.
Analysts believe that Ford’s real problem is the brand image.
Answer:
F



4.
This will be the first plant closing for Ford.
Answer:
F



5.
Analysts say that Ford is facing a unique set of circumstances, like no other in the auto manufacturing industry.
Answer:
F

6.
Ford is closing _______ plants by 2012?
	a.
	4

	b.
	44

	c.
	24

	d.
	14

	e.
	34


Answer:
D



7.
Combined GM, Ford, and Chrysler support _______ retirees and their spouses.
	a.
	100,000

	b.
	200,000

	c.
	400,000

	d.
	800,000

	e.
	close to 1 million


Answer: 
D



8.
The combination of healthcare and pension costs is called _______ costs.
	a.
	legacy

	b.
	retiree 

	c.
	administrative 

	d.
	human resource

	e.
	premium


Answer:
A

9.
To pay for healthcare and pension costs, Ford has a $_______ cost per car?
	a.
	100

	b.
	300

	c.
	500

	d.
	1200

	e.
	1500


Answer:
D



10.
Analysts believe that Ford will continue to have the weight of legacy costs until _______ makes a change. 

	a.
	auto industry leaders

	b.
	leaders of the manufacturing segment

	c.
	Michigan State Legislature

	d.
	US government

	e.
	Social Security 


Answer:
D


